



An Elementary Proof of Binet's Formula for the Gamma Function

Zoltan Sasvari

The American Mathematical Monthly, Vol. 106, No. 2. (Feb., 1999), pp. 156-158.

Stable URL:

<http://links.jstor.org/sici?sici=0002-9890%28199902%29106%3A2%3C156%3AAEPOBF%3E2.0.CO%3B2-Y>

The American Mathematical Monthly is currently published by Mathematical Association of America.

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at <http://www.jstor.org/about/terms.html>. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at <http://www.jstor.org/journals/maa.html>.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

The JSTOR Archive is a trusted digital repository providing for long-term preservation and access to leading academic journals and scholarly literature from around the world. The Archive is supported by libraries, scholarly societies, publishers, and foundations. It is an initiative of JSTOR, a not-for-profit organization with a mission to help the scholarly community take advantage of advances in technology. For more information regarding JSTOR, please contact support@jstor.org.

5. R. Holmes, The Magic Magic Square, *Math. Gazette* LIV, **390** (1970) 376.
6. J. R. Weaver, Centro-Symmetric (Cross-Symmetric) Matrices, Their Basic Properties, Eigenvalues, and Eigenvectors, *Amer. Math. Monthly* **92** (1985) 711–717.
7. K. Yasuda, A Square Sum Property of Magic Squares, *Senior Thesis*, Mathematics Department, Harvey Mudd College, 1997.

Harvey Mudd College, Claremont, CA 91711,
 benjamin@hmc.edu,
 kan@msf.biglobe.ne.jp

An Elementary Proof of Binet's Formula for the Gamma Function

Zoltán Sasvári

The present note presents an elementary proof of the following important result of J. P. M. Binet [3, p. 249].

Theorem 1. For $x > 0$ we have

$$\Gamma(x + 1) = \left(\frac{x}{e}\right)^x \sqrt{2\pi x} \cdot e^{\theta(x)} \quad (1)$$

where

$$\theta(x) = \int_0^\infty \left(\frac{1}{e^t - 1} - \frac{1}{t} + \frac{1}{2} \right) e^{-xt} \frac{1}{t} dt.$$

Here Γ denotes the gamma function defined by

$$\Gamma(x) = \int_0^\infty t^{x-1} e^{-t} dt.$$

Since $\lim_{x \rightarrow \infty} \theta(x) = 0$, from (1) we immediately obtain Stirling's formula

$$n! = \Gamma(n + 1) \sim \left(\frac{n}{e}\right)^n \sqrt{2\pi n}.$$

Binet's formula can also be used to prove a more precise version of Stirling's asymptotic expansion

$$\log \frac{n!}{(n/e)^n \sqrt{2\pi n}} = \sum_{j=1}^{\infty} \frac{B_{2j}}{2j(2j-1)n^{2j-1}} = \frac{1}{12n} - \frac{1}{360n^3} + \frac{1}{1260n^5} - \dots,$$

where the B_{2j} 's denote the Bernoulli numbers defined by

$$\frac{1}{e^t - 1} - \frac{1}{t} + \frac{1}{2} = \sum_{j=1}^{\infty} \frac{B_{2j}}{(2j)!} t^{2j-1}.$$

For, by problem 154 in Part I, Chapter 4 of [2], the inequalities

$$\sum_{j=1}^{2N} \frac{B_{2j}}{(2j)!} t^{2j-1} < \frac{1}{e^t - 1} - \frac{1}{t} + \frac{1}{2} < \sum_{j=1}^{2N+1} \frac{B_{2j}}{(2j)!} t^{2j-1}$$

hold for each nonnegative integer N . From $j! = \int_0^\infty t^j e^{-t} dt$ and the definition of θ we immediately obtain

$$\sum_{j=1}^{2N} \frac{B_{2j}}{2j(2j-1)n^{2j-1}} < \log \frac{n!}{(n/e)^n \sqrt{2\pi n}} < \sum_{j=1}^{2N+1} \frac{B_{2j}}{2j(2j-1)n^{2j-1}}.$$

In this MONTHLY several derivations of Stirling's formula and asymptotic expansion have been published. We mention here only the most recent [1].

To prove Binet's formula, we define the function φ by the equation

$$e^{\varphi(x)} = \frac{1}{\sqrt{2\pi}} \int_0^\infty \sqrt{x} (te^{1-t})^x dt$$

so that

$$\Gamma(x+1) = \left(\frac{x}{e}\right)^x \sqrt{2\pi x} \cdot e^{\varphi(x)}. \quad (2)$$

Binet's formula is equivalent to $\theta(x) = \varphi(x)$. We prove this equality by showing that θ and φ both satisfy a certain difference equation and that $\theta(\frac{1}{2}) = \varphi(\frac{1}{2})$.

Our first lemma tells nothing new; we present a proof for the sake of completeness.

Lemma 1. For all $x > 0$ and $a > -x$ we have

$$\int_0^\infty \frac{e^{-xt} - e^{-(x+a)t}}{t} dt = \log\left(1 + \frac{a}{x}\right). \quad (3)$$

Proof: Denoting by $f(x)$ and $g(x)$ the left and right hand sides of (3), respectively, we have $\lim_{x \rightarrow \infty} f(x) = \lim_{x \rightarrow \infty} g(x) = 0$ and $f'(x) = g'(x)$. Consequently, $f(x) = g(x)$ for all $x > 0$. ■

Lemma 2. For all $x > 0$ we have

$$\varphi(x) - \varphi(x+1) = \theta(x) - \theta(x+1) = \left(x + \frac{1}{2}\right) \log\left(1 + \frac{1}{x}\right) - 1. \quad (4)$$

Proof: Denote by $g(x)$ the right-hand side of (4). That $\varphi(x) - \varphi(x+1) = g(x)$ follows immediately from (2) by using the equation $\Gamma(x+2) = (x+1)\Gamma(x+1)$. To prove the statement about θ , first note that $\lim_{x \rightarrow \infty} \theta(x) - \theta(x+1) = \lim_{x \rightarrow \infty} g(x) = 0$. Moreover,

$$\theta'(x) - \theta'(x+1) = \int_0^\infty \frac{e^{-xt} - e^{-(x+1)t}}{t} - \frac{e^{-xt} + e^{-(x+1)t}}{2} dt.$$

Applying (3), we obtain

$$\theta'(x) - \theta'(x+1) = \log\left(1 + \frac{1}{x}\right) - \frac{1}{2} \left(\frac{1}{x} + \frac{1}{x+1}\right) = g'(x).$$

Since the limits at ∞ and the derivatives are equal, $g(x) = \theta(x) - \theta(x+1)$. ■

Remark. Differentiating under the integral sign in the previous proofs can be avoided by replacing $\frac{1}{t}$ by $\int_0^\infty e^{-st} ds$ and then using Fubini's theorem.

Lemma 3. $\varphi(\frac{1}{2}) = \theta(\frac{1}{2}) = \frac{1}{2} - \frac{1}{2} \log 2$.

Proof: Since $\Gamma(\frac{3}{2}) = \frac{1}{2}\sqrt{\pi}$, (2) yields $\varphi(\frac{1}{2}) = \frac{1}{2} - \frac{1}{2} \log 2$.

As to $\theta(\frac{1}{2})$, we follow an idea of A. Pringsheim [3, p. 249]. By an obvious substitution,

$$\theta(1) = \int_0^\infty \left(\frac{1}{e^{\frac{1}{2}t} - 1} - \frac{2}{t} + \frac{1}{2} \right) e^{-\frac{1}{2}t} \frac{1}{t} dt.$$

Using this, we obtain

$$\begin{aligned} \theta(1/2) &= (\theta(1/2) - \theta(1)) + \theta(1) \\ &= \int_0^\infty \left(\frac{e^{-\frac{1}{2}t}}{t} - \frac{1}{e^t - 1} \right) \frac{1}{t} dt + \int_0^\infty \left(\frac{1}{e^t - 1} - \frac{1}{t} + \frac{1}{2} \right) e^{-t} \frac{1}{t} dt \\ &= \int_0^\infty \left(\frac{e^{-\frac{1}{2}t} - e^{-t}}{t} - \frac{1}{2} e^{-t} \right) \frac{1}{t} dt = \int_0^\infty -\frac{d}{dt} \left(\frac{e^{-\frac{1}{2}t} - e^{-t}}{t} \right) - \frac{e^{-\frac{1}{2}t} - e^{-t}}{2t} dt. \end{aligned}$$

Applying (3) we obtain the desired result. ■

Proof of Theorem 1: We have to show that $\varphi(x) = \theta(x)$. By (4), $\theta(x) - \theta(x+1) = \varphi(x) - \varphi(x+1)$. Applying this to $x, x+1, \dots, x+n-1$ and summing these equations, we see that $\theta(x) - \theta(x+n) = \varphi(x) - \varphi(x+n)$. Since $\lim_{n \rightarrow \infty} \theta(x+n) = 0$, we immediately obtain

$$\theta(x) = \varphi(x) - \lim_{n \rightarrow \infty} \varphi(x+n) =: \varphi(x) - h(x). \tag{5}$$

Next we show that the function h is decreasing. If $0 \leq y \leq x$ and $0 \leq p \leq 1$ then

$$\begin{aligned} \sqrt{x+n} p^{x+n} - \sqrt{y+n} p^{y+n} \\ \leq \sqrt{x+n} p^{y+n} - \sqrt{y+n} p^{y+n} \leq (\sqrt{x+n} - \sqrt{y+n}) p \end{aligned}$$

for all $n \geq 1$. Noting that $0 \leq te^{1-t} \leq 1 (t \geq 0)$ and using the definition of φ , we conclude that

$$e^{\varphi(x+n)} - e^{\varphi(y+n)} \leq (\sqrt{x+n} - \sqrt{y+n}) e^{\varphi(1)}.$$

Taking the limit as $n \rightarrow \infty$, we obtain $e^{h(x)} - e^{h(y)} \leq 0$, i.e., $h(x) \leq h(y)$. Since the function h is also periodic with period 1, it must be constant. Applying (5) and Lemma 3, we obtain that $h(x) = h(\frac{1}{2}) = 0$ for all $x > 0$. ■

REFERENCES

1. G. Marsaglia and J. C. W. Marsaglia, A new derivation of Stirling's asymptotic approximation to $n!$, this MONTHLY **97** (1990), 826–829.
2. G. Pólya and G. Szegő, *Problems and Theorems in Analysis*, Springer-Verlag, Berlin-Heidelberg-New York, 1972.
3. E. T. Whittaker and G. N. Watson, *A Course of Modern Analysis*, (Fourth Edition), Cambridge, 1927.

Department of Mathematics, Technical University of Dresden, Mommsenstr. 13, 01062 Dresden, Germany
sasvari@math.tu-dresden.de